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QUESTION 1

Refer to the exhibit. A customer is looking to replace the backup environment shown. Which HPE Storage Tool should
you use to assess their backup environment? 

A. HPE NinjaProtected+ 

B. HPE Storage Sizer 

C. HPE NinjaCrawler 

D. DD Analyzer 

Correct Answer: A 

Reference: https://uk.cdw.com/about/partners/protecting-data-growth-hpe-ninjaprotected-backup-assessments/ 

 

QUESTION 2

A customer needs to analyze performance and capacity of their storage environment. Their environment consists of
HPE 3PAR, EMC VNX, and Pure Systems. Which tool should you use to begin your assessment of their environment? 

A. HPE Infosight 

B. DD Analyzer 

C. NinjaCrawler 

D. SAF Collect 

Correct Answer: D 
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QUESTION 3

A customer has a pair of HPE 3PAR arrays with Synchronous Replication enabled. They need recommendations for
deploying the Quorum Witness when implementing Peer Persistence. What should you recommend to the customer? 

A. The Quorum Witness should be in the secondary data center, with IP connectivity to the HPE 3PAR there 

B. The Quorum Witness should be in a third data center, with FC connectivity to both HPE 3PARs 

C. The Quorum Witness should be in the primary data center, with FC connectivity to the HPE 3PAR there 

D. The Quorum Witness should be in a third data center, with IP connectivity to both HPE 3PARs 

Correct Answer: D 

Reference: https://h20195.www2.hpe.com/v2/GetPDF.aspx/4AA5-8914ENW.pdf 

 

QUESTION 4

A customer has a requirement to provide Disaster Recovery for an application that is very sensitive to IO latency. 

The customer has specified an RPO of less than 3 minutes for this application. 

How can HPE 3PAR Remote Copy help meet the customers specified requirements? 

A. by using Asynchronous Streaming Replication 

B. by using Synchronous Replication 

C. by using Synchronous Long Distance Mode 

D. by using Periodic Asynchronous Replication with an interval of 3 mins 

Correct Answer: A 

 

QUESTION 5

A customer has three 4-node HPE 3PAR arrays. Two of the arrays are deployed at a primary site, and the third array is
deployed at a disaster recovery site. Both arrays at the primary site are replicated to the single array at the disaster 

recovery site. 

All replication is asynchronous periodic. All arrays are utilizing 4 RCIP links for replication. 

The customer needs to add a third array at the primary site. They would like to use the existing array at the disaster
recovery site as a replication target for this additional array. 

What must the architect consider to meet this customer requirement? 
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A. A single pair of RCIP ports on one array can have a Remote Copy relationship with up to two other arrays 

B. Remote Copy fan-in ratios of greater than 2:1 are only supported with RCIP when using 10 Gb Ethernet links 

C. Arrays involved in a Remote Copy relationship must have the same number of node pairs 

D. Asynchronous streaming replication must be used for Remote Copy fan-in ratios greater than 2:1 

Correct Answer: A 

Latest HPE0-J58 Dumps HPE0-J58 VCE Dumps HPE0-J58 Study Guide

Powered by TCPDF (www.tcpdf.org)

Latest HPE0-J58 Dumps | HPE0-J58 VCE Dumps | HPE0-J58 Study Guide                                4 / 4

https://www.passapply.com/hpe0-j58.html
https://www.passapply.com/hpe0-j58.html
https://www.passapply.com/hpe0-j58.html
http://www.tcpdf.org
https://www.passapply.com/hpe0-j58.html
https://www.passapply.com/hpe0-j58.html
https://www.passapply.com/hpe0-j58.html

